

# INITIAL SITE VISIT FORM PROJECT - 04

NAME OF PROJECT PROPOSAL : REHABILITATION OF PRIMARY SCHOOL AT GOZIOGOUINE VILLAGE

LOCATION: GOZIOGOUINE (N 7°-09', W 7°-34')

APPROX 30 KM SOUTH OF BANBAT-3 HEADQUARTERS, CNRA MAN.

APPLICANT (organization, name and contact details):

LIEUTENANT COLONEL MD ZAHEDUR RAHMAN, PSC CONTINGENT COMMANDER BANBAT-3 (ONUCI), CNRA MAN

UN EXTENSION: 2701

STAFF MEMBER VISITING (name, signature and contact details):

DATE OF VISIT: 15 JUNE 2008

DATE PROJECT PROPOSAL SUBMITTED:

15 JUN 2008

HOW WAS THE PROJECT IDENTIFIED? (by mission component, by implementing agency):

BY BANBAT-3 (ONUCI)

BRIEF DESCRIPTION OF PROJECT : THIS PROJECT IS A LOCAL PRIMARY SCHOOL DETAILS DESCRIPTION AS UNDER:

IT CONSISTS OF THREE BUILDING. 1

ALL BUILDINGS HAVE PACCA FLOOR (REPAIRABLE). 2.

ALL BUILDINGS HAVE 2.5 BRACK WALL. 3.

7XDOOR WOODEN (05 REPAIRABLE). 1

DO THE PROJECT PROPOSAL AND BUDGET SEEM REALISTIC? DOES THE APPLICANT ORGANIZATION APPEAR TO BE CAPABLE OF IMPLEMENTING THE PROJECT? ARE THERE ANY FACTORS THAT MIGHT DELAY IMPLEMENTATION WITHIN 3-MONTHS OF THE RELEASE OF FUNDS?

YES, THE PROJECT PROPOSAL AND BUDGET IS REALISTIC.

YES, THE APPLICANT ORGANIZATION CAPABLE OF IMPLEMENTING THE PROJECT. 2.

NO, THERE ARE NO SUCH FACTOR EXIST WHICH MAY DELAY THE IMPLEMENTATION OF THE PROJECT, BECAUSE, THIS PROJECT IS UNDER TAKEN TO SERVE THE COMMON INTEREST OF THE VILLAGERS OF VILLAGE: GOZIOGOUINE

DOES THE PROJECT APPEAR TO BE NECESSARY / USEFUL? HOW MAY IT POSITIVELY IMPACT ON ATTITUDES TOWARDS EITHER THE MISSION, ITS MANDATE OR THE PEACE PROCESS? (include your assessment, as well as any relevant comments made by applicant, beneficiaries, or community representatives spoken to at the site):

YES THE PROJECT IS VERY NECESSARY AND USEFUL IT WILL FACILITATE THE VILLAGERS

IT WILL ENHANCE POSITIVE IMAGE OF ONUCI; THE BENEFICIARIES WILL GAIN CONFIDENCE IN THE EDUCATION FACILITIES. FUNCTION OF ONUCI.

BASED ON YOUR CONSULTATIONS WITH APPROPRIATE REPRESENTATIVE (S), PLEASE EXPLAIN THE POSITION OF LOCAL AUTHORITIES TOWARDS THE PROJECT

Signature:

LIEUTENANT COLONEL MD ZAHEDUR RAHMAN, PSC CONTINGENT COMMANDER BANBAT-3 (ONUCI), CNRA MAN

# NATIONS UNIES

Opérations des Nations Unies en Côte d'Ivoire



# UNITED NATIONS **United Nations Operations**

In Côte d'Ivoire

# QUICK IMPACT PROJECT DEMAND FORM PROJECT - 04

Project Reference: 04/QIP/3816/BANBAT-3 (ONUCI)

1. ORGANIZATION: BANBAT-3 (ONUCI)	2. NAME OF APPLICANT:	
	LIEUTENANT COLONEL MD 2 CONTINGENT COMMANDER BANBAT-3 (ONUCI)	ZAHEDUR RAHMAN, PSC
- PROFESS	4. TEL/FAX:	5. DATE: 15 JUNE 2008
BANBAT-3 (ONUCI) CENTRAL NATIONAL RANGE AGRICULTURE MAN	UN EXTENSION:2701	
6. TYPE OF ORGANIZATION (LEGAL STATUS-	IF POSSIBLE ATTACH JUSTIF	ICATION):
BANBAT-3 (ONUCI), UN MILITARY CONTINGEN		
/. DESCRIPTION OF THE ONO.	BANBAT-3 (UNOCI) CENTRAL NATIONAL RANGE / MAN	AGRICULTURE
8. NAME AND TITLE OF THE RESPONSIBLE P	ERSON OF THE PROJECT:	X
8. NAME AND THEE OF THE TEST	ALDUA COMPA	NY OF BANBAT-3 (ONUCI)
CAPTAIN HASAN MASUD, ACTING COMPANY (	COMMANDER, ALPHA COMPA	ANT OF BANKS (1 o (o )
9. TITLE OF THE PROJECT: REHABIL (N 7°09' W 7°34').	ITATION OF PRIMARY SCH	HOOL AT VILLAGE GOZIOGUINE
10. IMPLEMENTATION AGENCY/INST:	11. CHARACT & NO OF BE	NEFICIARIES:
ACTING COMPANY COMMANDER, ALPHA COMPANY OF BANBAT-3 (UNOCI) WILL ACT AS PRINCIPAL COORDINATOR UNDER	10/ TEAGRENS, SOO OF	JDENTS AND 1500 VILLAGERS
DIRECTIVES OF CONTINGENT COMMANDER	OZIOGUINE (N. 7009' W. 7034'	), APPROX 30 KM SOUTH FROM
BATTALION HEADQUARTERS OF BANBAT-3 (C	ONUCI), CNRA MAN CAMP	
13. EXPENDITURES (FURNISH AN ANNEX	URE OF ESTIMATE AND AP	PROPRIATE INFORMATION: IT
2040TIC 22 12 000 CEA (US \$ 5 242 )		
14. HAS YOUR PROPOSAL BEEN ADDRESSE		
15. IN CASE OF FINANCING BY OTHER PART	NERS, GIVE THEIR IDENTITY	N/A
16. PAST EXPERIENCE IN THE RELATED FIE	LD: NA	#1 4 <sub>2</sub>
17. DESCRIPTION OF THE PROJECT - EVALU- WORKS ARE AS UNDER:	IATION OF THE SITUATION A	
A. FLOOR & WALL. B. TIN PROOF & REPA	IR OF SEALING. C. DOORS	& WINDOWS. D. PAINT & MISC

18. GENERAL AND SPECIFIC OBJECTIVES: THIS PROJECT WILL FACILITATE FOLLOWINGS TO THE VILLAGERS OF AT GOZIOGUINE-1, GOZIOGUINE-2 AND KPOAGOUINE:

A. REHABILITATION OF PRIMARY SCHOOL AT GOZIOGUINE.

B. EDUCATION FACILITIES OF CHILDREN.

19. IMPLEMENTATION OF THE PROJECT (BRIEF DESCRIPTION OF THE OPERATION AND ITS DURATION): TO COMPLETE THE CONSTRUCTIONS WORK, IT WILL TAKE 05 (FIVE) WEEKS AS FOLLOWS:

A. TO CONSTRUCT OF FLOOR AND WALL.

01 WEEK

B. TO CONSTRUCT OF TIN ROOF AND REPAIR OF SEALING

01 WEEK

TO CONSTRUCT OF DOORS AND WINDOWS FITTINGS

02 WEEKS

D. PAINT AND MISC WORK

01 WEEK

20. STATE OF NEEDS (IF NECESSARY, WOULD YOU FURNISH IT SEPARATELY): COST 22, 12,000 CFA (US \$ 5,241). DETAILS AS UNDER:

TOTAL ESTIMATED

A. TO CONSTRUCT OF FLOOR AND WALL

7,05,000 CFA

B. TO CONSTRUCT OF TIN ROOF

2.75,000 CFA

TO CONSTRUCT OF DOORS AND WINDOWS FITTINGS

10,72,000 CFA

D. MISC WORK

1,60,000 CFA

21. REMARKS/OBSERVATIONS (RESERVED FOR PROJECT MANAGER): N/A

22. DETAILED BUDGET PER CHAPTER:

	DESIGNATION DESIGNATION	QUANTITY	UNIT PRICE (CFA)	TOTAL PRICE (CFA)
SER		03	40,000	120000
1.	SAND (TALLY)		70,000	210000
2.	GRAVEL (TALLY)	03	the death of the same	200000
3.	CEMENT (BAG)	40	5,000	
	BRICK	500	350	175000
4.		07	3800	26600
5.	PIECES TIN SHEET (7 FIT)	40	1000	40000
6.	PACKET PIN NO 12		1000	40000
7.	PACKET PIN NO 06	40		30000
8.	PACKET PIN NO 05	30	1000	10000
	PACKET PIN NO 03	10	1000	
9.	PAINT RED (20 LITRE)	02	40,000	80000
10.		10	2500	25000
11.	PLY WOOD FOR SEALING (1mx2m)	25	1000	25000
12.	HINGS		800	8000
13.	HOOK	10		252000
14.	WOOD FOR DOOR	36	7000	
	WOOD FOR VARANDAH	105	7000	735000
15.		08	6500	52000
16.	STEEL PILLON VARANDAH	40 40,000		160000
17.	WHITE PAINT (20 LITER)	40		22,12,000 CFA
	TOTAL:			

# 23. TIME CHART OF ACTIVITIES:

	Initial Activities	01 month	02 month	03 month	04 month
#	TO CONSTRUCT OF FLOOR AND WALL	Х			
#	TO CONSTRUCT OF TIN ROOF AND REPAIR OF SEALING.	Х			
#	TO CONSTRUCT OF DOORS AND WINDOWS FITTINGS	Х			
#	PAINT AND MISC WORK		X		
#	Activities in Progress				
#					
#					
#	Evaluation of Progress				1
#					
#		4			

#### AGREEMENT

I confirm that this project won't serve a commercial organization. I accept that it is executed by ONUCI in my Name.

In case of direct financing, I commit to use funds allocated for the aforesaid end and to submit a final report, including the original of the involces as required.
 I accept to return the unused funds and equipment to ONUCI.

Signature:

LIEUTENANT COLONEL MD ZAHEDUR RAHMAN, PSC CONTINGENT COMMANDER BANBAT-3 (ONUCI), CNRA MAN

### KEITA GAOUSSOU COMMERSANT

## Tout pour batiment, Vitrerie Montage de Chassis Narcos BP 271 Man RC Nº1493-CC/C910-1529-B Bank Account Number-SGBCI 115-405-810-74

Tel.: 33792232 Cel. 09181652, 09176245

Nom du Client :....

# COMPLETION WORK FOR PRIMARY SCHOOL OF VILLAGE GOZIOGOUINE

Ser	Designation	Prix unit.	Qté/Packet	Prix Total
I-I	- CONSTRUCT FLOOR & WALL			
1.	SAND (TALLY)	40,000	03	1,20,000 CFA
2.	GRAVEL (TALLY)	70,000	03	2,10,000 CFA
3.	CEMENT (BAG)	5,000	40	2,00,000 CFA
4.	BRICK	350	500	1,75,000 CFA
	TOTAL CFA (I-II):			7,05,000 CFA
III -	CONSTRUCT TIN ROOF			
1.	PIECES TIN SHEET (7 FIT)	3800	07	26,600 CFA
2.	PACKET PIN NO 12	1000	40	40,000 CFA
3.	PACKET PIN NO 06	1000	40	40,000 CFA
4.	PACKET PIN NO 05	1000	30	30,000 CFA
5.	PACKET PIN NO 03	1000	10	10,000 CFA
6.	PAINT RED (20 LITRE)	40,000	02	80,000 CFA
7.	PLY WOOD FOR SEALING (1mx2m)	2500	10	25,000 CFA
	TOTAL CFA (III):			2,75,000 CFA
ÎV -	DOORS AND WINDOWS FITTINGS			
1.	HINGS	1000	25	25000 CFA
2.	HOOK	800	10	8000 CFA
3.	WOOD FOR DOOR	7000	36	2,52,000 CFA
4.	WOOD FOR VARANDAH	7000	105	7,35,000 CFA
5.	STEEL PILLON VARANDAH	6500	08	52,000 CFA
	TOTAL CFA (IV):	-		10,72,000CFA
V- M	ISC WORK			
1.	WHITE PAINT (20 LITER)	40,000	40	160000 CFA
.,	TOTAL CFA (V):			160000 CFA
	Grand Total (I-V):			22,12,000 CF/

Arrété la total général des factures proforma à la somme de : TWO MILLION TWO HUNDRED TWELVE THOUSAND (22,12,000 CFA)

MANAGER SIGNED